HL—

O [RILI7A—=<] ¥REBRHH

vi,2 {(SL—S2753) S ER
0 2734 x 11T 5300 X &x3250
WaBES MaEsS [Hed EES HasEs MEES |[EEd {E%k
G253M0010000| & #: Rl 1 G—2681|G25300870021 | R T4 2
v-3510 |G253M0030000|% &+ Hi 1 1080 X 130 X 70 (94 kg)
G253M0020000| &4 # 1 |V|_—oo43|V|_53Mozooooo|'=:.§/\°:f~)|/ x 3 |
G253M0040000| 5 & # # 1 2850 X 695 X 100 (247 kg)
3000 %170 % 110 (156 kg) |VL—OO43 |V|_53Mozooooo|'=:.§/\°:f~)|/ x 3 |
G253M0050000| 7% & # 1 2850 X 695 X 100 (247 kg)
V-2611 |G253M0120000|7%#7 1 |V|_—oo43 |VL53M0200000|E,§/§’:?~)I/ N 3 |
G253M0130000| Ril47 1 2850 X 695 X 100 (247 kg)
2785 X 200 X 105 (138 kg) |VL—OO43 |V|_53Mozooooo|'=:.§/\°:f~)|/ x 3 |
VL-0020 [J253M0060010(RTa—F—1F % 1 2850 X 695 X 100 (247 kg)
J253M0070010[giTa—F—4% & 1 |V|_—oo43|V|_53Mozooooo|'=:.§/\°:f~)|/ X 3 |
3570 X 200 X 180 (292 kg) 2850 X 695 X 100 (247 kg)
VL-0021 [J253M0080000|#%a—F—4 % 1 |V|_—oo42|V|_53Mozooooo|§§/\°*;|/ x 2 |
J253M0090000[#%a—+—4F & 1 2850 X 695 X 70 (_16.9 kg)
2970 x 110 X 80 (_11.8 kg) |V|_—oo46|J253M021oooo|§§/\°*;u N 1 |
| viL-0023 | J253M0100000|chRgAE [ s | 2850 X 510 X 50 C 7 ke)
2890 X 105 X 55 (195 kg) F253M0330010|E#E/KE1Y Z &l 1
| VL-0523 |J253M0100000|¢F§E | 5 | F253M0350010| E4R/KE1Y AR 1
2890 X 85 X 55 (122 kg) F253M0340010|E4RKkH1Y E# 1
| sL-2524 |J253w0170001 |55 # | 13 | |SS-3555|F253M0360010|B4R/KEIY Bk 1
2800 X 165 X 60 (189 kg) F253M0470010|&#:Kk 1Y AT 2
| vL-0024 | J253M0110000| 2 4% | 2 | F453M0500010| & Hk g1y 1% 6
3045 X 245 X 145 (22 ke) G25300630000 |5 Ok B £ #& 2
G253M3140000| F R FESE! 1 3585 X 222 X 98 (236 kg)
V-S2630 | G25303240000 F R BREAM 1 |s—2682*|G253*o710000|;§/\°*» th 2 |
G253M3150000| —figFE (5RdpY)SHE 1 2490 X 285 X 95 (103 kg)
G25303250000 | —fi§ FFE N4 1 |s—2682*|G253*o710000|;§/\°*» th 2 |
2710 %X 145 x 110 (321 kg) 2490 X 285 X 95 (103 kg)
V-S2032 |G253M3150000| — B E (R&HY)SH 2 |S—2682*|G253*0710000|J§/§’*)l/ i 2 |
G25303250000 | — i3 BB A#4 2 2490 X 285 X 95 (103 kg)
2710 X 140 X 87 (319 ke) |S—2682*|G253*0710000|J§/§’*)l/ i 2 |
V-S2032 |G253M3150000(—fE (R%HY)SH 2 2490 X 285 X 95 (103 kg)
G25303250000 | —fi§ FFE N4 2 |s—2682*|G253*o710000|;§/\°*» th 2 |
2710 X 140 X 87 (319 kg) 2490 X 285 X 95 (103 kg)
ss-2633 |F253M0180000|RiA/3— 1 |s—2682*|G253*o71oooo|E/\°*» i 2 |
G253M0280000| EF48 1 2490 X 285 X 95 (103 kg)
2730 X 197 X 78 (102 kg) S-2683% | G253%0720000 | B/ SR )L (FEfd) 1
G253M0270000| BT 1L $E 4R 1 G253%0730010 [FE/SRJIL_ T 1
V-2645 |G253M0680000| EARAIEH/S— 1 2490 X 310 X 95 (138 kg)
| AT-JG2 | 1399813100 [#7-TEi60 (402 L=2050 1|
2970 X 61 X 61 (1 ke
2755 X 430 X 150 (136 kg)
V-2036 |G253M0230000|Z ¥R A 1
G253M0250000({ &1L 4 4R Hil 1 XBRBES - HABEOHIIBEELSE
3120x410% 110 (202 kg)
v-3537 |G253M0240000|ZE{LHiHR % 1
G253M0260000| & L3R % 1
2380 X 310 X 105 (115 kg)
J253M0370000 |#L—JL 2
J253M0380000|f=TL—JL % 1
VL-2680 | J253M0390000|f=TL—JL & 1
M253M0450000| R T2 5 h/3— 2
2000040050 [EESIETFIF# 1
3182 % 127 X 55 ( 164 kg)



AL—2 [RNILT74—~] {R a1 R

nv22 {SL—S2753) S ER
0 2734 x B4T 5300 X & 3250
WaEs | SRS [H2% By | (Bags | BLES |[H24% [E%]
G253M0400000|RL—JL 2 X NOFEESDHEE
G253M0410000(#L—/LIESHEE 6 | | s—2660 |F253M0290000] E4RB4R i | 2 |
G253M0420000|#L—JLiEOEE % 2 3576 X 785 X 70 (269 kg)
G253M0430020[;BE & £ 1 | s—2660 |F253M0290000] 248 4R i 2 |
G253M0440020|;B8E 4 A 1 3576 X 785 X 70 (269 kg)
GY0OMO0810020| F E (k) 2 | s—2561 |F253M0310000| B4R 1% 2 |
GYOOMO0820040| FE () & 1 2360 X 785 X 70 ( 17.9 kg)
GYOOMO0830040| FE (F) A& 1 | s—2561 |F253M0310000| B4R 1% 2 |
GY00MO0840000| i & 13 2360 X 785 X 70 ( 179 kg)
GYOOMO0850020( i (FE 1) & 12 X fEEFEORES
GYOOM0860020| 1% % (FE ) A 12 | | s-z2660]Fz53M0290000| B4R &I (REEFLH) [ 2 ]
G25300460000 [ R T4 AR—H— 2 3576 X 785 X 70 (269 kg)
$253M0510000|FEYviav& 8 & 1 | s-z2660 | FZ53M0290000| B4R4R &1 (EZEALHE) | 2 |
S253M0520000|EEVviav£E & 1 3576 X 785 X 70 (269 kg)
$25300530000 |faLEES 2 [ s-z2561 |FZ53M0310000] Z4B4R #% (EERAH) [ 2 ]
$253M0540000|FEY v a2+ 2 2360 X 785 X 70 (179 kg)
G25300510000 |7 h—2 & 2 | [s-z2561]Fz53M0310000[E484R % (BERLE) | 2 |
G25300520000 | & #itEE£E 2 2360 % 785 x 70 ( 179 kg)
4984800358 |{b¥ta—+— & 1 X fEEREERE
4984800359 |{k¥a—+— & 1 FZ53M0330010| EiR/KEIY ZERIGEERREAVA) | 1
G25300560000 |EFkELEHEE 2 FZ53M0350010| EiR/KE1Y HEIGEEREAVA) | 1
G253M0570010| B4R H KL 32 FZ53M0340010| E4R/KYIY E#GEEZRHLR) | 1
4984800360 |&#:7vH/N — 6 SS-Z3559 Fz53M0360010| E4R/KENY HHRGEEZRFAHE) | 1
G253M0590000| B4R a—+—Hh/\—RiZE 1 F253M0470010|&#KE1Y ZEAHI 2
G253M0600000| B4R a—+—Hh/\—RiH 1 F453M0500010| & #KkE1Y #% 6
G253M0610000| B4R —F—H/\—& & 1 G25300630000 |5 O B £ #& 2
G253M0620000| B#Ra—F+—h/\—#%H 1 3585 x 225 X 103 ( 236 kg)
G25300650000 |AT1L#EARIESHEE 1 * FIDER G F— AR C L TREALHA T,
G25300660000 |AT{EAEHRIESHEET i 8&F [ ERRET ]
4989800133 |74V ®25(4ED4) 2 HeE i = E
4989800104 |7A1¥—%5Yv7 ®4H 3 MURE 586 kg 676 kgl
GYg%?; 203(())(1)2000 Foh—#% 2
SL-S2502 FUA—RILE (Fok Ty vat)
rotoroes | (BT FybEAR) 6
4986300114 [[AKT—7 (EFV) 2 _ _ _
4985700097 |NF v T D17 10 HERE EE¥ BRES(x) | HABFS(*)
4985700109 |faLyFvy S 4 SL-S2753W[  L— DAk W W
4985700026 |faL¥vv7 44 SL-S2753S| YL TF7— L N— S S
4986000033 |ZT LR/ Sy (6Xx20%5) 33
4401806023 |EiRESE 33
4985700126 |EiRA MéFvyy7 33
4401506001 |M6+ vk (158) 33
*| 4401206125 |M6 x 557K )Lk 21
*| 4401206127 |M6 x 757<fFARILk 4
4401206123 |M6 x 407<AA )Lk 54
4401206122 |M6 x 207<AA )Lk 4
4401206117 |M6 x 167XERILF 225
4400360008 |M6 X 12 E54al 22
*| 4401506029 (M6 TAtNAFvE 98
4400350087 |M5 x 12+75 43 170
4401205032 |5 x 12xF2vE L 34
4401204014 |Y—IL{FtPANTHIA1aL(4 x 13) 13
4401208033 |M8 x 2075 R Lk 2
4401508017 (M85 AtARATVE
4984800317 |#E8 :60(APEAIVIL30) 3
4984800215 |T)L7R60-80° 1
4401204015 |PANTH R4l (4% 16) 10
4985700017 |f&E{+4 AAYE (SG-50A) 1
4985700099 |THRtBLkimFvryT 6
4987200021 |[a—F>5FI(K) 1
4989800094 |A 1L 1
4989800135 |#EEERJ—IPS 2
4987200002 |kEIEEH 1
5405340212 |{REFE 1
4201898224 |fHIEEH (AU L—) 1
EG11SC000000|#H 37 5 BAE (Jhar BY) 1
*|EG11SCS00050|#H 7 ERiBHE (FEER)) 1
425 x 330 X 270 ( 185 ke)



